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« 29 AE: Y Fo BAHA E+E Z20[2 2HH
H 8-1 %39 #3
9| 2A(kg) Z0[|(cm)
0 439.00
2 439.12
4 439.21
6 439,31
8 439.40
10 439.50

« x:OHEE =8 20, y: E+E2] 20|

=232, (2013). EH S, M 3 B A= H2AL P. 168



1. 2 A=A DA ASHE
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1. 2 A=A DA ASHE

[ 2ex4 |

(8t8) = - 57.31 + 1.81 (E! K| )

Sl T A QF B2 Ol 20| 2K 2CH

Absolute PPP A&l StCH) 271 HE LY.


http://ezstat.co.kr/real_life_sample/구매력평가설/BigMac지수 회귀분석 로그변환전.xls
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http://ezstat.co.kr/real_life_sample/구매력평가설/BigMac지수 회귀분석 log-log 모형.xls
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1. 2 H=80 2l A AsE
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« UIOIE: BE =J} AF=Z(1999. 2.-2001. 12.)
g B t-value
Samsung Electronics 1.24 6.39
SK Telecom 0.95 3.71
KT 1.09 5.97
KEPCO 0.71 4.79
POSCO 1.00 8.12
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